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[ 1 x 100 = 100 marks] Multiple Choice questions
B) Speech and Video

A) All digital services
D) Speech only

T me R U

7) Computer d n
S i f:.ut_aur__\ﬁJ,l-csﬁi-"-.ﬂﬁ:ai.uﬁlstarconnmcd'&-' 2
A) Repeater exchange B) Hub exchange '
C) Private branch exchange D) Tandem exchange BRI .. . &
¢ 3\S ¢4 S sampling 2 o 2S5 Nyquist criterion 3
A) 2fs B) (1/2)fs C) (1/2fs) D) (2/ts)
[where fis the signal frequency] :
Sl S S 808 W i S 3laaS ke g2e binary number system 4
A) Sign magnitude B) I's complement
C) 2's complement D) All of the above e
® iy oS flip-flops 8 3 S 8 U S el divide-by-32 S5
A)4 B) 6 C)5 D)7 -
85 S 8 i S i) S 3t ol S e S s Sy B ) ool 556
LR
A) MAR to MBR B) MBR to MAR
C) IO units to memory D) Memory to /O units
® i S il S (5 pate gl SNk fipeedy Sl S 3 S ohia SPage Table sl == 7
A) Number of words equal to number of pages
B) Number of words more than the number of pages
C) Number of words less than the number of pages
D) All the above
o Up oS ~m-op ke c.fjx.:.}gﬁéolﬁ,SSupervisor 8
A) Conceptual level data hiding. B) External level data hiding.
C) Physical level data hiding. D) None of these.
¢ Sl Sl S S query <9
A) B-Tree B) graph ' C) Query Tree D) directed
graph .
fou Jlylaw S Structured charts 10
A) requirements gathering B) requirements analysis
C) design K D) coding
£ 3 58 S AN aaie 3L S integration testing 11

B) analysis errors

D) interface errors

# 3 Ula 1S Eus L (4 Alpha Testing 12
- - : l ]

B) Installat




U85l e i 81 s Uik pin codes ) addresses «First names «ast names <y N 18
TS a1 s (158 " S" ke Syl 55 v last name ! pin-code o S S

B) the last name : "

D) none of the above ‘

A) the pin code
et ta 19

C) the compound key first name and last name
£ B 45 S atomicity =S transaction
A) Transaction management component of DBMS
B) Application Programmer
C) Concurrency control component of DBMS
D) Recovery management component of DBMS
e il Ll syl 20

¢ Uy el aa L op8 S i i ue database management system S data
B) buffer manager

A) authorization and integrity manager
C) transaction manager D) file manager
£ 3158 358 e Protocol o » ke =S Cascading rollback 21
A) strict two-phase locking protocol B) tree locking protocol
C) two-phase locking protocol D) validation based protocol.
¢ s LS Jeatid ) S (S alter table v SQL 22
A) add an attribute B) delete an attribute
C) alter the default values of an attribute D) all of the above
TC‘AL‘AL-,.:@J-}I i e e table Sl 23
A) Secondary key B) Alternate key
C) Unique key D) Primary key
? i i recovery technique g GSm uie R 2 ote 24
A) Deferred update B) Immediate update S
C) Two-phase commit D) Shadow paging . »
§ U W S 58 Jeaial (a s b S literals <59} ~)) 4 S operator 25
A) Like B) COMPARE C) BETWEEN D) IN
? 3 2 S Uz« Relational Algebra 26
A) Selection operator. B) Projection operator.
D) Division operator.

C) Aggregation operators.
4 s= physical machine <4 s o= —protocol ! RARP (Reverse Address Resolution Protocol) 27

U s S Zud 58 )3 i gateway server < [P address S o 5 us= local area network
2 5 58 Jexial S table or cache

(A) Additional Resolution Protocol (ARP)

(B) Address Resolution Protocol (ARP)

(C) Address Monitoring Protocol (ARM).

(D) None of the above _ _
e ) S 5,8 38 Jsil S this pointer o oS e i gnse o OsS o e IS 2 05 28
D) (*this).x

B) *this.x C) *(this.x) i
¢mhale LS (ua Code =S adiaajsia 29

A) this.x
class t

virtual void print();
} B) Function print() should be declared as static.

A) No error ould
C) Function print() should be defined. D) Class t should contain data members.
¢&, S Output 'S program =5 o dd s jdia

int main() {
int x,y=10,2=10;
x=(y==2);
cout<<x;
return 0; }

A)l
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o
¢ o . . . .
) Classes cannot have data as public members, s e ot S R
g) Structures cannot have functions as members, |
C) Class members are public by default. '
D) None of the above. [N
‘ o i ; g o 27 : '
A) a runtime error. B) a syntax eri:r R
C) a problem in the operating system. D) a hardware pr-oblem 3
¢ u LJS L i : . :
=S, Suns t ; Bk A
A)01t02" B)-2"to+2" -1 0) 2! :§“+ 27 -1 g "E"S)‘E‘lf 2t : -1'
[ 1 L % S oL S :
:.: I;’f“_’_‘"‘AL; OS = um it SO0 _Sfa )b’ Sl ) o Lattice S L A 34 1
(A)avb=anb (B)av(BVC)=aV(BVC) '
©av(bAcy=a (D)av(bve)=b i}
5’:' 3 =S oS max (x, y) + min (x, y) 5 s real numbers ‘y’ s 'x’ S 35
A)2x (B) 2y (©) (x+y)/2 Dxty '

¢ e S i T gl pp syt S e oy el S aElull - 'PECULIAR’ =4 36
How many words can be formed out of the letters of the word beginning with P and ending with

R?
A) 100 B) 120 C) 720 D) 150
fuu 058 Tautology o use U e 37

(A)ypvqg—p (B)pV(q—p) -
©pvip—a D)yp—(p—1q) - I

f o p eSs sk ki Sp—q 38
A)~q—p B)-p—q
C)~pArq . D)~pVq

€ s i3S e U3 o> e ey 2 Boolean Algebra Sl B! A 39
A) B is a finite but not complemented lattice.
B) B is a finite, complemented and distributive lattice.
C) B is a finite, distributive but not complemented lattice.
D) B is not distributive lattice.

int x=9;
x=++2;
printf("%d",x);
A) 11 B) 12 010 B

int i=3;
for (;i<10;++i)

printf(”%d",++i); . s

A) 46810 B) 46801 C) 246801

A) Distributed Mail System Protocol

B) Distributed Message '_S_yStem-_Pmmte

C) Distributed Message System Pool

D) Distributed Mail System Pool

A ) Exception
B) Error.

C ) Throwable.
D ) Raise.
priilt
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¢ _\ia 4y »time-ordering of messages ! o= U« UML 45

te
A) Activity B) Sequence
() Collaboration D) Class
P LS dlaad LS Permutations S <slid S0 g 58 Jleaiad 1S oy n ~SLiBANANA 46
A) 60 B) 36 C)20 D) 10
$um iy ! transitive ireflexive us partial ordered relation 2! 47
A) antisymmetric B) bisymmetric
C) antireflexive D) asymmetric
§_-+\S Binary S -31 48
A) 11100011 B) 10011111
D) 11110001

fos (San il € Sl ya oy ol g e |y e (S Y gt S B 15 e Jlald Syl 49
A) 65536 B) 32768 C) 16384 D) None of the above

¢ 3.8 ~QFD 350
B) quality function development
D) none of the above

C) 11100001

A) quality function design
C) quality function deployment
File-record-length 51
A) Should always be fixed
B) Should always be variable

C) Depends upon the size of file
D) Should be chosen to match the data characteristics.
§_il S _iaiy oSG read/write head 5S sector 2 =00 i, — 52
B) Latency Time

A) Seek Time
C) Access time D) None of the above
* i iy i S CPU allocation us Queue 55 priority of process s> — technique S — 53
A) Starvation B) Ageing C) Revocation D) Relocation
? - i Balady’s anomaly uz+ page replacement policies i~ 055 w2 J A e 54
A) FIFO B) LRU C) LFU D) NRU
? s S5 S oS (i operating system Sl Page fault frequency 55

B) size of pages is reduced

A) processes tend to the /O-bound
D) locality of reference is applicable to the

C) processes tend to be CPU-bound

process

¢ oy SIS 58 i ) S % block of data S disk drive mechanism <4 56
A) latency B) latency plus transmission time
C) latency plus seek time D) latency plus seek time plus transmission time _
A) is a sign of efficient system B) is taking page frames other working sets
C) should be the tuning goal D) is taking larger disk spaces for pages paged
out :
A) hold and wait B) No pre-emption s nos

D) starvation - I

C) circular wait
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A lS ~RARP 63

A) Restricted Access Reversed Protocol
B) Reverse Assisted Resolution Protocol
C) Restricted Access Reversed Phase
D) Reverse Address Resolution Protocol _
¢ _ Component S process precedence Sequence = UsS = s B ~23e 64

A) Process name B) Sequence operator *;’

C) Concurrency operator *,’ D) All of the above

§__s din 03 ) — i scheduling policy e 08 s time-sharing operating system 65
A) Shortest Job First B) Elevator
C) Round Robin D) First Come First Serve

§_ 3,418 —«FAST 66 |

A) Functional Application Specification Technique
B) Fast Application Specification Technique
() Facilitated Application Specification Technique

D) None of the above
- 9 Petri net firing <31 67 !

A) when there is a token on every input node of the firing position.

B) when there is a token on every output node of the firing position.

C) when there is a token on both input and output node of the firing position.
D) none of the above

¥ = w2 Petri Net tQQIS.:‘Q_’S‘:uwAgh:}é)iu 68

A) Alpha/Sim B) AIPINA
C) CoopnBuilder D) KahnBuilderpetri
¢ s Qe S finite sets 08 s ~agtia 69

B) Letters in English alphabet

D) none of the above :
B) Worldwide Interoperability for Microwave Access

D) Wireless Interoperability for Microwave Access

£ L S partition of S s use U ma 3ie § = 0,200 8,9}_&9 i
A)[{1, 3.6}, {2, 8}, (5,7, 9}] B) ({1, 5,7}, {2,4,8,9} {3.5, 6}]

C)[{2,4.5,8}, {19}, {3,6,7}] D) None of the above o
£ 115 S partition of S e i % S = (1,2, 3,4, 5,6}8 72

A) Lines Parallel to x-axis
C) Integers which are multiples of 5

A) Wireless Maximum
C) Wireless Fidelity Maximum

A)PL=[{1,2,3}, {1,4,5,6}] B)P2=[{1,2}, (3,5,6}]
c)P4=[{1,3,5}, {2.4,6,7}] D)P3=[{1,3,5),{2.4}, {6}1
“He is happy”. Note that “He is poor” > is 73

Let p denote “He is rich” and let q denote o e
unhappy”* are equivalent to —p and —q, respectively. The symbolic form of “if he 1, then
he is unhappy”” using p and g will be:
A)p— 4 B)p—q .
C)—p— 4 D) none of theabove ;
Let p denote “He is rich” and let q denote “He is happy”. Note that "I
unhappy” are equivalent to —p and g, -tés*pect-l.?_ezly---T_hc.-.symbnlac'_ form
be poor in order to be happy” usmgpand will be:
A)Tq—p B)p—
C)q=—>p

2 S o A

A) 4892

Ayn+n-1

A) 10
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78

Suppose the preorder and inorder traversals of a binary tree T yield the following sequences of nodes:
Preordel’ L G. B, Q. -ﬁ. C. K| F. Pa DI E} Rc H
: . CiF, A, G, P, E, D, H,R
Inorder: Q,B,K,C, F f,ijhsu:-béé'l"
A)7 B) 6 C)4 D)5 }
?18 i LS decedents of B — Sl»» Stree T B T8 s 79

CK
A) KCFAG B) QACKF C) KCAQ D) QA
fLs Uy Uik 3 oS an automaton M b finite state automaton (FSA) Sot 80

A) A finite set (alphabet) A of inputs and a finite set S of (il"klf.:l'flal) states
B) A subset Y of S (called accepting or “yes” states) and an initial state sO in S
C) A next-state function F from S x A into §

D) All the above .
: € ,; LSRadix 'S system i hexa-decimal <2! 81
A)l6 B) 10 C) 08 D)2 _
T a9y s S bits S i S 35S s usa JAVA S long integer Sl 82
A) 128 B) 32 C) 64 D) 256
P g s Joanid S S 3y 8 S dead lock 55! 83
A) Beladays algorithm B) Banker's algorithm

C) Bakers algorithm D) Bredford algorithm
locator (URL) s> 4%) —— Internet standard = 058 = ussi S of Uy Tim Bemers-Lee 84
¢ S Jlaaial S HTTP (1994) L5 = GS Saliay S uniform resource

A) RFC1796 B) RFC1730 C) RFC1736 D) RFC1738
£ S ASCII encoding 'S ‘R’ 85
A) 82 B) 83 C) 72 D) 71
¢ 2 \Sbyte code S ‘R* 86,

A) 1001000 B) 1001001 C) 1010010 D) None of the
above

fun S 31§ _S computer word size <5 87

B) Easy to address large memory space

A) Easy to represent large numbers
C) Both (A) and (B) D) None of the above
Assume that cache memory has an access time of 10 nanoseconds, while main memory has an
access time of 100 nanoseconds. If the “hit rate” of the cache is .70 (i.e., 70% of the time, the
value needed is already in the cache), what is the average access time to memory?
A) 37ns average access time B) 35ns average access time
C) 30ns average access time D) 39ns average access time
4 O3S - = s S network programming - S Jweaiul Sclass oS um JAVA 89
¢ = Uy Jueaind 3 _STCP communications class
A) Server, Socket B) ServerSocket, Socket
C) Both (A) and (B) D) None of the above
4 O5S <= Al il S network programming — S Jwaiul Sclass S u JAVA 90
¢ Ui Jdul 3 S UDP communications class

=

88

A) Socket, Packet B) Datagram, Socket, Packet
C) DatagramSocket, DatagramPacket D) None of the above

¢ il _Suser-interaction s3saas . — lia S Juaail i S 3 € ) siu [nformation iSI——!
A) History B) WebForm C) cookies D) N

S S Jtemess 2 B S generate 5S Variable-length-record LW (58 us data

A) Names of children
C) Name of Spouse
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un 3 e S = Sorting 94

A) Armanging the data in only ascending order
B) Arranging the data in some given order

C) Arranging data as well as text in any order
D) All the above

s 3 a8 —aSearching 95
A) Finding the location of the record with a given key.
B) Finding the location of the record with given keys.
C) Both (A) and (B).

D) None of the above

¢ Complexity < s#35%/ Sorting_y) Searching oS0 (')
A) Binary Search

C) merge Sort

B) Linear Search

D) Bubble sort
A) Adding a new record to the data strucutre
B) A given ordering method B
C) Adding a new record to the data structure, usually keeping a particular orde ring

D) None of the above .
¢, S & puSResolution M S 512 % 512 pi
A) 256 B) 512 C) 1024 D)
s S ) S Slalay 3 s a0 agsociated operations U
o

A) Stack
C) Abstract Data Type
sa a8 2 LS Height S resized image 5 s P
¢ _uia s o Resized i
{f we want to resize a to one that is with the same aspect ratio,

resized image?
A) 256 B) 512 C) 460




